
SPEC SHEET

ALL DIMENSIONS ARE TYPICAL. TOLERANCE +/- .500". JOHN BOOS & CO. RESERVES THE RIGHT TO CHANGE SPECIFICATIONS WITHOUT NOTICE.

JOHN BOOS & CO. • 3601 S BANKER ST • EFFINGHAM, IL 62401 
PH: (888) 431-2667 • FAX: (800) 433-2667 • JOHNBOOS.COM125 081324

"UBPT" UNDERBAR PASS-THRU WORK STATION
w/Included 10 Circuit Cold Plate

FEATURES:
• 18GA 300 Series Stainless Steel
• Stainless Steel Legs & Bracing
• Includes 10 Circuit Ice Bin & 2 Piece Sliding Lid
• Soda Gun Chase Mounting Options
• Add-On Drain Pan Overshelves Available
• Mounting Options For Blender Shelf & Speed Rail
• (2) Built-In 10"x14"x10" Sinks, Faucet Sold Separately

CERTIFICATIONS:

UBPT-3342-CP10

UBPT-3342-CP10
WITH UBPTS2-1540

(BLENDER SHELF & SPEED 
RAIL NOT INCLUDED)

"UBPT" PASS-THRU WORKSTATION
MODEL # OF COLD

PLATE CIRCUITS SIZE (LXWXH) WEIGHT (LBS)

UBPT-3342-CP10 10-Circuit 42"x33"x45" 312

ACCESSORIES
MODEL DESCRIPTION WEIGHT (LBS)

UBPTS1-1540 Single Drain Pan Overshelf 24

UBPTS2-1540 Double Drain Pan Overshelf 42

UBBSS-12 Blender Shelf - 12" Width 4

UBBSS-18 Blender Shelf - 18" Width 5

UBSR2-24 24" Double Speed Rail 10

UBSR2-30 30" Double Speed Rail 12



DETAILED SPECIFICATIONS

ALL DIMENSIONS ARE TYPICAL. TOLERANCE +/- .500". JOHN BOOS & CO. RESERVES THE RIGHT TO CHANGE SPECIFICATIONS WITHOUT NOTICE.

JOHN BOOS & CO. • 3601 S BANKER ST • EFFINGHAM, IL 62401 
PH: (888) 431-2667 • FAX: (800) 433-2667 • JOHNBOOS.COM 126081324

"UBPT" PASS-THRU WORKSTATION
MODEL # OF COLD

PLATE CIRCUITS SIZE (LXWXH) WEIGHT (LBS)

UBPT-3342-CP10 10-Circuit 42"x33"x45" 312

-

SHEET NUMBER:

QUAD LOCATION:

ROOM NUMBER:

MODEL NUMBER:

WEIGHT:REV: DESCRIPTION:DATE:BY: THIS DRAWING AND THE DESIGN SHOWN ARE THE PROPERTY OF JOHN BOOS & CO.
REPRODUCTION, INFRINGEMENT OR ANY OTHER UNAUTHORIZED USE OF THIS DRAWING

WITHOUT THE WRITTEN CONSENT OF  JOHN BOOS & CO. WILL BE SUBJECT TO LEGAL ACTION.

POLISHER:

WELDER:

BREAK:

MFG. INITIALS:

CRATING:

LAYOUT:

APPROVED

REQUESTED BY:

DRAWN BY:

APPROVED AS NOTED
REVISE & RESUBMIT

DECK MATERIAL: BASE MATERIAL:QUANTITY:

ITEM NUMBER:

SCALE:

QUOTE NUMBER:

DATE:

SALES ORDER
 NUMBER:

JOHN BOOS & CO.

UNDERBAR

18GA/300 SS SS

UBPT-3342-CP10

2/01/24

3/4"=1'

TN

33"

42"

10 1/2"

Ø1/2" TUBE
1" LONG

45"

31"

22"

14"

10"

Ø1 7/8"

Ø1" 4"

1/2" MPT

1/4 X 2" SLOT
1 1/2 X 3" SPACING

GRATE DETAIL
QTY (2)

11/16"

R1/4"

11/16"

2"

1/8"

18 5/8"

12 1/4"

R3/4"

1/2"

1/2"1 1/4"

8"

22 1/2"

R1/8"

16"

1/2"

1 1/4"

REAR LID DETAIL
*18GA/300 SS

QTY (1)

FRONT LID DETAIL
*18GA/300 SS

QTY (2)

LID OPEN
SECTION VIEW

LID CLOSED
SECTION VIEW

22 3/4"

1/4" RADIUS AT INSIDE CORNER OF 3 FACES

CHAMFER
FRONT CORNER

1/2"
HEM

3/4"

12"

Ø5/16"

HARDWARE BAG

- OVERALL TOLERANCE IS +/- .0625" UNLESS NOTED OTHERWISE
- ALL ANGLES ARE 90° UNLESS NOTED OTHERWISE.  ANGLE TOLERANCE IS +/- 0.1°

TOLERANCE NOTESPARTS LIST:
JBC ITEM # QTY DESCRIPTION

UBPT-3342-CP 1 PASS THRU ASSY
007277 1 1/2" x 5" MPT NIPPLE
092419 1 10 CIRCUIT COLD PLATE 13" x 20"

1-1/4" CROSS BRACE
CUT LENGTHQTY

2 27-7/8"

1-5/8" RND LEG
CUT LENGTHQTY

4 13-7/8"

BOX LIST:
JBC ITEM # QTY DESCRIPTION

BOX 1 of 3 1 ICE BIN / SINK ASSY w/ LEGS, BRACING, LIDS & CHASE
BOX 2 of 3 1 (2) END PANELS
BOX 3 of 3 1 SHELF w/ GRATES

MODEL #QTY DESCRIPTION
2 PBDR-2 (w/ UNIT) 1-7/8" DRAIN w/ BASKET

LOOSE HARDWARE:

3"

4"

1"

Ø1/4"

3"

4"

1"

Ø1/4"

3"

4"

1"

Ø1/4"

Ø3/4" 3/4" X 1-1/2"

COVER PLATE DETAIL
QTY (1EA)

29 1/2"

-

SHEET NUMBER:

QUAD LOCATION:

ROOM NUMBER:

MODEL NUMBER:

WEIGHT:REV: DESCRIPTION:DATE:BY: THIS DRAWING AND THE DESIGN SHOWN ARE THE PROPERTY OF JOHN BOOS & CO.
REPRODUCTION, INFRINGEMENT OR ANY OTHER UNAUTHORIZED USE OF THIS DRAWING

WITHOUT THE WRITTEN CONSENT OF  JOHN BOOS & CO. WILL BE SUBJECT TO LEGAL ACTION.

POLISHER:

WELDER:

BREAK:

MFG. INITIALS:

CRATING:

LAYOUT:

APPROVED

REQUESTED BY:

DRAWN BY:

APPROVED AS NOTED
REVISE & RESUBMIT

DECK MATERIAL: BASE MATERIAL:QUANTITY:

ITEM NUMBER:

SCALE:

QUOTE NUMBER:

DATE:

SALES ORDER
 NUMBER:

JOHN BOOS & CO.

UNDERBAR

18GA/300 SS SS

UBPT-3342-CP10

2/01/24

3/4"=1'

TN

33"

42"

10 1/2"

Ø1/2" TUBE
1" LONG

45"

31"

22"

14"

10"

Ø1 7/8"

Ø1" 4"

1/2" MPT

1/4 X 2" SLOT
1 1/2 X 3" SPACING

GRATE DETAIL
QTY (2)

11/16"

R1/4"

11/16"

2"

1/8"

18 5/8"

12 1/4"

R3/4"

1/2"

1/2"1 1/4"

8"

22 1/2"

R1/8"

16"

1/2"

1 1/4"

REAR LID DETAIL
*18GA/300 SS

QTY (1)

FRONT LID DETAIL
*18GA/300 SS

QTY (2)

LID OPEN
SECTION VIEW

LID CLOSED
SECTION VIEW

22 3/4"

1/4" RADIUS AT INSIDE CORNER OF 3 FACES

CHAMFER
FRONT CORNER

1/2"
HEM

3/4"

12"

Ø5/16"

HARDWARE BAG

- OVERALL TOLERANCE IS +/- .0625" UNLESS NOTED OTHERWISE
- ALL ANGLES ARE 90° UNLESS NOTED OTHERWISE.  ANGLE TOLERANCE IS +/- 0.1°

TOLERANCE NOTESPARTS LIST:
JBC ITEM # QTY DESCRIPTION

UBPT-3342-CP 1 PASS THRU ASSY
007277 1 1/2" x 5" MPT NIPPLE
092419 1 10 CIRCUIT COLD PLATE 13" x 20"

1-1/4" CROSS BRACE
CUT LENGTHQTY

2 27-7/8"

1-5/8" RND LEG
CUT LENGTHQTY

4 13-7/8"

BOX LIST:
JBC ITEM # QTY DESCRIPTION

BOX 1 of 3 1 ICE BIN / SINK ASSY w/ LEGS, BRACING, LIDS & CHASE
BOX 2 of 3 1 (2) END PANELS
BOX 3 of 3 1 SHELF w/ GRATES

MODEL #QTY DESCRIPTION
2 PBDR-2 (w/ UNIT) 1-7/8" DRAIN w/ BASKET

LOOSE HARDWARE:

3"

4"

1"

Ø1/4"

3"

4"

1"

Ø1/4"

3"

4"

1"

Ø1/4"

Ø3/4" 3/4" X 1-1/2"

COVER PLATE DETAIL
QTY (1EA)

29 1/2"

-

SHEET NUMBER:

QUAD LOCATION:

ROOM NUMBER:

MODEL NUMBER:

WEIGHT:REV: DESCRIPTION:DATE:BY: THIS DRAWING AND THE DESIGN SHOWN ARE THE PROPERTY OF JOHN BOOS & CO.
REPRODUCTION, INFRINGEMENT OR ANY OTHER UNAUTHORIZED USE OF THIS DRAWING

WITHOUT THE WRITTEN CONSENT OF  JOHN BOOS & CO. WILL BE SUBJECT TO LEGAL ACTION.

POLISHER:

WELDER:

BREAK:

MFG. INITIALS:

CRATING:

LAYOUT:

APPROVED

REQUESTED BY:

DRAWN BY:

APPROVED AS NOTED
REVISE & RESUBMIT

DECK MATERIAL: BASE MATERIAL:QUANTITY:

ITEM NUMBER:

SCALE:

QUOTE NUMBER:

DATE:

SALES ORDER
 NUMBER:

JOHN BOOS & CO.

UNDERBAR

18GA/300 SS SS

UBPT-3342-CP10

2/01/24

3/4"=1'

TN

33"

42"

10 1/2"

Ø1/2" TUBE
1" LONG

45"

31"

22"

14"

10"

Ø1 7/8"

Ø1" 4"

1/2" MPT

1/4 X 2" SLOT
1 1/2 X 3" SPACING

GRATE DETAIL
QTY (2)

11/16"

R1/4"

11/16"

2"

1/8"

18 5/8"

12 1/4"

R3/4"

1/2"

1/2"1 1/4"

8"

22 1/2"

R1/8"

16"

1/2"

1 1/4"

REAR LID DETAIL
*18GA/300 SS

QTY (1)

FRONT LID DETAIL
*18GA/300 SS

QTY (2)

LID OPEN
SECTION VIEW

LID CLOSED
SECTION VIEW

22 3/4"

1/4" RADIUS AT INSIDE CORNER OF 3 FACES

CHAMFER
FRONT CORNER

1/2"
HEM

3/4"

12"

Ø5/16"

HARDWARE BAG

- OVERALL TOLERANCE IS +/- .0625" UNLESS NOTED OTHERWISE
- ALL ANGLES ARE 90° UNLESS NOTED OTHERWISE.  ANGLE TOLERANCE IS +/- 0.1°

TOLERANCE NOTESPARTS LIST:
JBC ITEM # QTY DESCRIPTION

UBPT-3342-CP 1 PASS THRU ASSY
007277 1 1/2" x 5" MPT NIPPLE
092419 1 10 CIRCUIT COLD PLATE 13" x 20"

1-1/4" CROSS BRACE
CUT LENGTHQTY

2 27-7/8"

1-5/8" RND LEG
CUT LENGTHQTY

4 13-7/8"

BOX LIST:
JBC ITEM # QTY DESCRIPTION

BOX 1 of 3 1 ICE BIN / SINK ASSY w/ LEGS, BRACING, LIDS & CHASE
BOX 2 of 3 1 (2) END PANELS
BOX 3 of 3 1 SHELF w/ GRATES

MODEL #QTY DESCRIPTION
2 PBDR-2 (w/ UNIT) 1-7/8" DRAIN w/ BASKET

LOOSE HARDWARE:

3"

4"

1"

Ø1/4"

3"

4"

1"

Ø1/4"

3"

4"

1"

Ø1/4"

Ø3/4" 3/4" X 1-1/2"

COVER PLATE DETAIL
QTY (1EA)

29 1/2"

UBPT-3342-CP10

-

SHEET NUMBER:

QUAD LOCATION:

ROOM NUMBER:

MODEL NUMBER:

WEIGHT:
REVISION HISTORY:

3601 SOUTH BANKER STREET
P.O. BOX 609

EFFINGHAM, IL. 62401
(217) 347-7701 / FAX (217) 347-7705

E-MAIL: sales@johnboos.com
Web Site:  www.johnboos.com

REV: DESCRIPTION:DATE:BY: THIS DRAWING AND THE DESIGN SHOWN ARE THE PROPERTY OF JOHN BOOS & CO.
REPRODUCTION, INFRINGEMENT OR ANY OTHER UNAUTHORIZED USE OF THIS DRAWING

WITHOUT THE WRITTEN CONSENT OF  JOHN BOOS & CO. WILL BE SUBJECT TO LEGAL ACTION.

POLISHER:

WELDER:

BREAK:

MFG. INITIALS:

CRATING:

LAYOUT:

APPROVED

REQUESTED BY:

DRAWN BY:

DATE

APPROVED BY

APPROVED AS NOTED
REVISE & RESUBMIT

DECK MATERIAL: BASE MATERIAL:QUANTITY:

ITEM NUMBER:

SCALE:

QUOTE NUMBER:

DATE:

SALES ORDER
 NUMBER:

-

JOHN BOOS & CO.

UNDERBAR

18GA/300 SS SS

 UBPTS1-1540

2/01/24

1"=1'

TN

1" RND
18GA SS

Ø1/2" TUBE
1" LONG

25"

1/4-20 INSERT

- INCLUDE (4) 1/4-20 X 1.0 HEX BOLT SS
- (1) WIRE HOSE CLAMP
- (10LF) CLEAR FLEX TUBE

HARDWARE BAG

- OVERALL TOLERANCE IS +/- .0625" UNLESS NOTED OTHERWISE
- ALL ANGLES ARE 90° UNLESS NOTED OTHERWISE.  ANGLE TOLERANCE IS +/- 0.1°

TOLERANCE NOTES

18"

11"

1/4 X 2" SLOT
1 1/2 X 3" SPACING

GRATE DETAIL
QTY (2)

11/16"

R1/4"

11/16"

2"

1/8"

R3/4"

40 1/16"

15 1/16"

-

SHEET NUMBER:

QUAD LOCATION:

ROOM NUMBER:

MODEL NUMBER:

WEIGHT:
REVISION HISTORY:

3601 SOUTH BANKER STREET
P.O. BOX 609

EFFINGHAM, IL. 62401
(217) 347-7701 / FAX (217) 347-7705

E-MAIL: sales@johnboos.com
Web Site:  www.johnboos.com

REV: DESCRIPTION:DATE:BY: THIS DRAWING AND THE DESIGN SHOWN ARE THE PROPERTY OF JOHN BOOS & CO.
REPRODUCTION, INFRINGEMENT OR ANY OTHER UNAUTHORIZED USE OF THIS DRAWING

WITHOUT THE WRITTEN CONSENT OF  JOHN BOOS & CO. WILL BE SUBJECT TO LEGAL ACTION.

POLISHER:

WELDER:

BREAK:

MFG. INITIALS:

CRATING:

LAYOUT:

APPROVED

REQUESTED BY:

DRAWN BY:

DATE

APPROVED BY

APPROVED AS NOTED
REVISE & RESUBMIT

DECK MATERIAL: BASE MATERIAL:QUANTITY:

ITEM NUMBER:

SCALE:

QUOTE NUMBER:

DATE:

SALES ORDER
 NUMBER:

-

JOHN BOOS & CO.

UNDERBAR

18GA/300 SS SS

 UBPTS1-1540

2/01/24

1"=1'

TN

1" RND
18GA SS

Ø1/2" TUBE
1" LONG

25"

1/4-20 INSERT

- INCLUDE (4) 1/4-20 X 1.0 HEX BOLT SS
- (1) WIRE HOSE CLAMP
- (10LF) CLEAR FLEX TUBE

HARDWARE BAG

- OVERALL TOLERANCE IS +/- .0625" UNLESS NOTED OTHERWISE
- ALL ANGLES ARE 90° UNLESS NOTED OTHERWISE.  ANGLE TOLERANCE IS +/- 0.1°

TOLERANCE NOTES

18"

11"

1/4 X 2" SLOT
1 1/2 X 3" SPACING

GRATE DETAIL
QTY (2)

11/16"

R1/4"

11/16"

2"

1/8"

R3/4"

40 1/16"

15 1/16"

-

SHEET NUMBER:

QUAD LOCATION:

ROOM NUMBER:

MODEL NUMBER:

WEIGHT:
REVISION HISTORY:

3601 SOUTH BANKER STREET
P.O. BOX 609

EFFINGHAM, IL. 62401
(217) 347-7701 / FAX (217) 347-7705

E-MAIL: sales@johnboos.com
Web Site:  www.johnboos.com

REV: DESCRIPTION:DATE:BY: THIS DRAWING AND THE DESIGN SHOWN ARE THE PROPERTY OF JOHN BOOS & CO.
REPRODUCTION, INFRINGEMENT OR ANY OTHER UNAUTHORIZED USE OF THIS DRAWING

WITHOUT THE WRITTEN CONSENT OF  JOHN BOOS & CO. WILL BE SUBJECT TO LEGAL ACTION.

POLISHER:

WELDER:

BREAK:

MFG. INITIALS:

CRATING:

LAYOUT:

APPROVED

REQUESTED BY:

DRAWN BY:

DATE

APPROVED BY

APPROVED AS NOTED
REVISE & RESUBMIT

DECK MATERIAL: BASE MATERIAL:QUANTITY:

ITEM NUMBER:

SCALE:

QUOTE NUMBER:

DATE:

SALES ORDER
 NUMBER:

-

JOHN BOOS & CO.

UNDERBAR

18GA/300 SS SS

 UBPTS1-1540

2/01/24

1"=1'

TN

1" RND
18GA SS

Ø1/2" TUBE
1" LONG

25"

1/4-20 INSERT

- INCLUDE (4) 1/4-20 X 1.0 HEX BOLT SS
- (1) WIRE HOSE CLAMP
- (10LF) CLEAR FLEX TUBE

HARDWARE BAG

- OVERALL TOLERANCE IS +/- .0625" UNLESS NOTED OTHERWISE
- ALL ANGLES ARE 90° UNLESS NOTED OTHERWISE.  ANGLE TOLERANCE IS +/- 0.1°

TOLERANCE NOTES

18"

11"

1/4 X 2" SLOT
1 1/2 X 3" SPACING

GRATE DETAIL
QTY (2)

11/16"

R1/4"

11/16"

2"

1/8"

R3/4"

40 1/16"

15 1/16"

UBPTS1-1540

-

SHEET NUMBER:

QUAD LOCATION:

ROOM NUMBER:

MODEL NUMBER:

WEIGHT:
REVISION HISTORY:

3601 SOUTH BANKER STREET
P.O. BOX 609

EFFINGHAM, IL. 62401
(217) 347-7701 / FAX (217) 347-7705

E-MAIL: sales@johnboos.com
Web Site:  www.johnboos.com

REV: DESCRIPTION:DATE:BY: THIS DRAWING AND THE DESIGN SHOWN ARE THE PROPERTY OF JOHN BOOS & CO.
REPRODUCTION, INFRINGEMENT OR ANY OTHER UNAUTHORIZED USE OF THIS DRAWING

WITHOUT THE WRITTEN CONSENT OF  JOHN BOOS & CO. WILL BE SUBJECT TO LEGAL ACTION.

POLISHER:

WELDER:

BREAK:

MFG. INITIALS:

CRATING:

LAYOUT:

APPROVED

REQUESTED BY:

DRAWN BY:

DATE

APPROVED BY

APPROVED AS NOTED
REVISE & RESUBMIT

DECK MATERIAL: BASE MATERIAL:QUANTITY:

ITEM NUMBER:

SCALE:

QUOTE NUMBER:

DATE:

SALES ORDER
 NUMBER:

-

JOHN BOOS & CO.

UNDERBAR

18GA/300 SS SS

 UBPTS2-1540

2/01/24

1"=1'

TN

18"

10"

1" RND
18GA SS

Ø1/2" TUBE
1" LONG

28"

1/4-20 INSERT

- INCLUDE (4) 1/4-20 X 1.0 HEX BOLT SS
- (2) WIRE HOSE CLAMP
- (20LF) CLEAR FLEX TUBE

HARDWARE BAG

- OVERALL TOLERANCE IS +/- .0625" UNLESS NOTED OTHERWISE
- ALL ANGLES ARE 90° UNLESS NOTED OTHERWISE.  ANGLE TOLERANCE IS +/- 0.1°

TOLERANCE NOTES

18"

11"

1/4 X 2" SLOT
1 1/2 X 3" SPACING

GRATE DETAIL
QTY (4)

11/16"

R1/4"

11/16"

2"

1/8"

R3/4"

15 1/16"

40 1/16"

-

SHEET NUMBER:

QUAD LOCATION:

ROOM NUMBER:

MODEL NUMBER:

WEIGHT:
REVISION HISTORY:

3601 SOUTH BANKER STREET
P.O. BOX 609

EFFINGHAM, IL. 62401
(217) 347-7701 / FAX (217) 347-7705

E-MAIL: sales@johnboos.com
Web Site:  www.johnboos.com

REV: DESCRIPTION:DATE:BY: THIS DRAWING AND THE DESIGN SHOWN ARE THE PROPERTY OF JOHN BOOS & CO.
REPRODUCTION, INFRINGEMENT OR ANY OTHER UNAUTHORIZED USE OF THIS DRAWING

WITHOUT THE WRITTEN CONSENT OF  JOHN BOOS & CO. WILL BE SUBJECT TO LEGAL ACTION.

POLISHER:

WELDER:

BREAK:

MFG. INITIALS:

CRATING:

LAYOUT:

APPROVED

REQUESTED BY:

DRAWN BY:

DATE

APPROVED BY

APPROVED AS NOTED
REVISE & RESUBMIT

DECK MATERIAL: BASE MATERIAL:QUANTITY:

ITEM NUMBER:

SCALE:

QUOTE NUMBER:

DATE:

SALES ORDER
 NUMBER:

-

JOHN BOOS & CO.

UNDERBAR

18GA/300 SS SS

 UBPTS2-1540

2/01/24

1"=1'

TN

18"

10"

1" RND
18GA SS

Ø1/2" TUBE
1" LONG

28"

1/4-20 INSERT

- INCLUDE (4) 1/4-20 X 1.0 HEX BOLT SS
- (2) WIRE HOSE CLAMP
- (20LF) CLEAR FLEX TUBE

HARDWARE BAG

- OVERALL TOLERANCE IS +/- .0625" UNLESS NOTED OTHERWISE
- ALL ANGLES ARE 90° UNLESS NOTED OTHERWISE.  ANGLE TOLERANCE IS +/- 0.1°

TOLERANCE NOTES

18"

11"

1/4 X 2" SLOT
1 1/2 X 3" SPACING

GRATE DETAIL
QTY (4)

11/16"

R1/4"

11/16"

2"

1/8"

R3/4"

15 1/16"

40 1/16"

-

SHEET NUMBER:

QUAD LOCATION:

ROOM NUMBER:

MODEL NUMBER:

WEIGHT:
REVISION HISTORY:

3601 SOUTH BANKER STREET
P.O. BOX 609

EFFINGHAM, IL. 62401
(217) 347-7701 / FAX (217) 347-7705

E-MAIL: sales@johnboos.com
Web Site:  www.johnboos.com

REV: DESCRIPTION:DATE:BY: THIS DRAWING AND THE DESIGN SHOWN ARE THE PROPERTY OF JOHN BOOS & CO.
REPRODUCTION, INFRINGEMENT OR ANY OTHER UNAUTHORIZED USE OF THIS DRAWING

WITHOUT THE WRITTEN CONSENT OF  JOHN BOOS & CO. WILL BE SUBJECT TO LEGAL ACTION.

POLISHER:

WELDER:

BREAK:

MFG. INITIALS:

CRATING:

LAYOUT:

APPROVED

REQUESTED BY:

DRAWN BY:

DATE

APPROVED BY

APPROVED AS NOTED
REVISE & RESUBMIT

DECK MATERIAL: BASE MATERIAL:QUANTITY:

ITEM NUMBER:

SCALE:

QUOTE NUMBER:

DATE:

SALES ORDER
 NUMBER:

-

JOHN BOOS & CO.

UNDERBAR

18GA/300 SS SS

 UBPTS2-1540

2/01/24

1"=1'

TN

18"

10"

1" RND
18GA SS

Ø1/2" TUBE
1" LONG

28"

1/4-20 INSERT

- INCLUDE (4) 1/4-20 X 1.0 HEX BOLT SS
- (2) WIRE HOSE CLAMP
- (20LF) CLEAR FLEX TUBE

HARDWARE BAG

- OVERALL TOLERANCE IS +/- .0625" UNLESS NOTED OTHERWISE
- ALL ANGLES ARE 90° UNLESS NOTED OTHERWISE.  ANGLE TOLERANCE IS +/- 0.1°

TOLERANCE NOTES

18"

11"

1/4 X 2" SLOT
1 1/2 X 3" SPACING

GRATE DETAIL
QTY (4)

11/16"

R1/4"

11/16"

2"

1/8"

R3/4"

15 1/16"

40 1/16"

UBPTS2-1540


